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10. Which of the following shows characteristic features of GLONASS constellation?

a. 24 operational satellites, 19,130 km b. 24 satellites, 6 orbital planes and 20,200
orbital height and Roscosmos operator km orbital height

¢. 36 total satellites, 34 operational d.
satellites, 4 orbits and 12,660 km None of the above

orbital height

11. Electromagnetic radiation:
a. produces a time varying magnetic
field and vice versa
¢. consists of magnetic and electric fields  d. All of these.

is capable to travel across space

-
[

- The instruments which provide electromagnetic radiation of specified wavelength or a
band of wavelengths to illuminate the earth surface, are called:
a. Sensors b. Passive sensors
¢. Aclive sensors d. None of these

13. The entire range of the electromagnetic spectrum spans a large spectrum of wave
lengths varying from:

a, 1010 to 10°m b. 108 to 106m
c. 100 to 1010 m d. 108 0o 105m
14. Landsat program began in __
a. 1972 b. 2003
¢ 1973 d. 1937
15. India’s first remote sensing satellite (IRS 1A) was launced from
a. Baikonur b. Cape Kennedy
¢. French Guiana d. Sriharikota

16. How much inclination must be provided in a tilted photograph?

a. 3¢ b. 200
(4 o d. 340

17. Scale at elevation point in photograph can be givenas
a. S=i/(H-h) b. S=f/(H+h)
¢.  S=f/(H*h) d. S=f/(-H+h)

18. The distance between two points on an aerial photograph is measured as
2 em and distance between the same two points on the ground is 1 km. What is the
scale of the aerial photograph?
a. 1:5,000 b. 1:50,000
¢ 1:55,000 d. 1:15,000
19. Which of the following doesn’t indicate the purpose of stereoscope?
2. Relation between convergence and b. Line of sight justification
accomodation
¢. Perception of depth d. Assisting eyes on the image
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